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% - 4 14
S - EH .o (3H) Ofl At o4 %Eﬁ HR=2
MEAXJHEH 29 363,700 0 363,700
307 2Iz2t0| A 363,700 0 363,700
02 DIZHEAAIRE E X 363,700 0 363,700
O=MstA K& HE 363,700
MNASAEHOI2AE 3,955,900 3,010,300 945,600
= 1,143,000
= 2,812,900
EHZ2R T LAY (M EAIS 1,144,000 741,000 403,000
403 XX SHHS K20 & 1,144,000 741,000 403,000
01 XIS AZ2E X 1,144,000 741,000 403,000
QS (Srcher) M 780,000
O =X MEHE 364,000
ZIIME 2SS EYZE X4 1,650,000 600,000 1,050,000
= 1,100,000
o= 550,000
403 XX SHHM S X201 & 1,650,000 600,000 1,050,000
= 1,100,000
o= 550,000
01 XS A=2E X 1,650,000 600,000 1,050,000
ogstd =¥ =2}
CHA) 1,650,000
= 1,100,000
& 550,000
MEIsS0|E XAEAY (XS 396,000 102,600 293,400
403 AIXSHME X201 N 396,000 102,600 293,400
01 MHXSHAHXNE2E X 396,000 102,600 293,400
Ot & elo 220,000
OZ=Z el MEHH 176,000
MEf2ZXE XNAE - =4 55,900 55,900 0
= 43,000
& 12,900
308 AMXISHMSOIA 55,900 55,900 0
= 43,000
= 12,900
01 IXHHIMNEXTS 55,900 55,900 0
OME 22X XA 55,900
= 43,000
= 12,900
XH0tEY X8 (HSAY) 60,000 540,000 A 480,000
403 XX SHHM S X201 A 60,000 540,000 A 480,000
01 XS RS2 X 60,000 540,000 A 480,000
OsY=E TAMEIE 34,000




AR gAY SN YT
A AYSD MPAQYE NASATH(BALS/NY)
Sl NHHESFBHOIBAIL (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
O%0E TAIMEISAZ2E ZHAY 26,000
NHStHABHOIS AL (HEAY) 650,000 650,000 0
403 XX SHHS K20l A 650,000 650,000 0
01 XIS AZ2E X 650,000 650,000 0
OLEE M2 ZHAIY 650,000
NASEULMEfHE A 3,000 3,000 0
NS =203 EF4A 3,000 3,000 0
307 QI2t0| ™ 3,000 3,000 0
02 AI2tAAMAIE E =X 3,000 0 3,000
OXNHESS R d=203 &4A 3,000
OfMsSAlSEs 2 22 2,314,436 1,415,323 899, 113
= 1,050,530
o= 1,263,906
OS2 Ilol 0ol A 463,489 380,016 83,473
= 356,530
= 106,959
403 XX S M S X201 & 463,489 380,016 83,473
= 356,530
= 106,959
01 XS A2E X 463,489 380,016 83,473
OOtM=Z Tl ALY 463,489
= 356,530
& 106,959
OrMES=2 Hol2a XS 259,800 259,800 0
308 XX EHSO|IA 259,800 259,800 0
01 AIXSHMEMNEX= 259,800 259,800 0
O0M=z2 T4 X 259,800
OfME= Oloe X e XA 299,014 149,507 149,507
308 XHXIGHH SO0l & 299,014 149,507 149,507
01 AIKSHHEMNEXZ 299,014 149,507 149,507
OOt ES=E HoHEXH XA 299,014
OfMsSE XMy 29 X 813,333 460,000 353,333
= 308,000
o=} 505,333
308 MXISHMSOIA 493,333 460,000 33,333
= 148,000
= 345,333
10 2| 2SO USHE AN E A 493,333 460,000 33,333
OSSP 22HdEH 29 X & 493,333
= 148,000
& 345,333

w




M ox
40 5 4

By SRR -E-1
AUGID MYAUE NUHAXH (FALS/Te)
OMSHSES UL

= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
403 UHXSHHSA=0l& 320,000 0 320,000
= 160,000
< 160,000
02 SO 2SOICHsH 2 X 2 A I 320,000 0 320,000
OOtMESE X2y HaAd X 320,000
= 160,000
< 160,000
O SAZE BESES 2,000 2,000 0
202 odl 2,000 2,000 0
01 201t 2,000 2,000 0
OMSAEESES 2,000
MAaXIe 2&J12 XI& 44,000 44,000 0
= 30,000
= 14,000
308 XX EH A S0l 44,000 44,000 0
= 30,000
< 14,000
01 HXNHHNBHELS 44,000 44,000 0
OMAXIEe &I XI& 44,000
= 30,000
< 14,000
MEH e M= EXAS 65,000 0 65,000
= 50,000
= 15,000
308 X EHSOIA 65,000 0 65,000
= 50,000
< 15,000
01 HXNHHNBNEES 65,000 0 65,000
OdEi A nEg HES E XA 65,000
= 50,000
< 15,000
UEIS BESS ZHMY 7,800 0 7,800
2 6,000
< 1,800
308 XXM SO A 7,800 0 7,800
= 6,000
< 1,800
01 IXNSHHBAMNEES 7,800 0 7,800
ESAINS BTS2 TEMY 7,800
= 6,000
< 1,800
MENARHAL SXAMY X 360,000 120,000 240,000
= 300,000
< 60,000

~




AR BFNYR SN BT
M AYE D MTAQAYS NABATH(BLLS/T )
Sl OHMSASESUBR (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 360,000 120,000 240,000
= 300,000
< 60,000
01 X SHMA2E X 360,000 120,000 240,000
OMENAEHAIE EXNAY XA 360,000
= 300,000
< 60,000
Ao o 2 HII2 2eldEt 11,457,360 8,687,706 2,769,654
= 9,609, 100
< 1,848,260
=g Hol=s2el 3,685,360 2,162,373 1,522,987
= 2,505,100
< 1,180,260
SAEIE 2HEBA(US) 131,560 131,560 0
308 XXM SO0l A 131,560 131,560 0
10 B2 S0 3&HAE A 131,560 131,560 0
Os%4&JI% =H24(HS) 131,560
SEMHHE =H243 639,300 648,900 A 9,600
= 213,100
< 426,200
308 XtXIEHHSOIA 639,300 648,900 A 9,600
= 213,100
= 426,200
01 X HHILEES 639,300 648,900 29,600
SEHHE =HEH=S 639,300
= 213,100
= 426,200
SHEGHT M) HSAIS (2L E) 220,000 0 220,000
= 220,000
308 MtXIEHMSOIH 220,000 0 220,000
= 220,000
01 HXNHHBHELS 220,000 0 220,000
Ootaot M| HeAS (S 2H) 220,000
= 220,000
SH&EGHT MD HStAIS (AFH) 28,000 0 28,000
= 28,000
308 XXM SO0l A 28,000 0 28,000
= 28,000
01 HIXNHHBNEES 28,000 0 28,000
Ootaot= Mefd] HSAIS (B=H) 28,000
= 28,000
SE7Y otEGtT ALY 22,000 22,000 0
308 XX HMSOIA 22,000 22,000 0




EENHE SN BT
e Zof & HIIZ 2eldst
ATE=ed Hils2el (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
07 XXM RES 22,000 22,000 0
O=2%Y ot&Edt7 F3AY 22,000
SAPHS=HE XX ALY 30,000 30,000 0
403 MtXISHHE X201 & 30,000 30,000 0
01 XM A=2EE 30,000 30,000 0
Osdeld=HE EXXNEAY 30,000
Mesg sUotY XX 67,500 37,413 30,087
= 67,500
403 UtXI S E X201 & 67,500 37,413 30,087
= 67,500
01 X EHHMA=LE L 67,500 37,413 30,087
omnMagg suoted 4x1X& 67,500
= 67,500
st=2HII=E 3 Al 5,000 2,000 3,000
201 £B-2d| 5,000 2,000 3,000
02 3323l 5,000 2,000 3,000
Ost=HIl=Sgsal Al 5,000
S=8otE =SEA3 115,500 88,500 27,000
= 115,500
403 X SHHE =0l & 115,500 88,500 27,000
= 115,500
01 XM A=2E X 115,500 88,500 27,000
OsZHdlE E2sdotd &sX& 115,500
= 115,500
ol MHEAIE QLIS AT L HHF 1,696,500 1,068,000 628,500
= 1,131,000
< 565,500
403 XIS S X201 & 1,696,500 1,068,000 628,500
= 1,131,000
< 565,500
01 X SHHM A28 X 1,696,500 1,068,000 628,500
O & HIISMHE AL oHES ALY 1,696,500
= 1,131,000
= 565,500
it AM=ERX SEHIISHe HEH 730,000 0 730,000
= 730,000
308 XXM S0 A 730,000 0 730,000
= 730,000
01 HIXNHHNBHEES 730,000 0 730,000
Odsr M=K SHHEIISXMe HE ™ 730,000
= 730,000
HIOIZ2MelAIE &3 7,772,000 6,525,333 1,246,667




A= g3z = PN EIEHY
ME: qpHol B U HIIS HelLs
S HIIES™MeAMNE &5 (&)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
= 7,104,000
< 668,000
HEAE &X 3,706,000 989, 133 2,716,867
= 3,038,000
< 668,000
403 X SHHSA=0l& 3,706,000 989, 133 2,716,867
= 3,038,000
< 668,000
01 HIXSHMA2E X 3,706,000 989, 133 2,716,867
OF= M2ME X ZdAHY 3,531,000
= 2,863,000
= 668,000
o2z SLHEAE SEAY 175,000
= 175,000
22HAE EX 1,787,000 3,259,200 A 1,472,200
= 1,787,000
403 A X EHHSH=0IA 1,787,000 3,259,200 A 1,472,200
= 1,787,000
01 HXESHMA=E X 1,787,000 3,259,200 A 1,472,200
Of&E - SEZAHIISHelE 22AXHeAAMNE B
ALY 1,487,000
= 1,487,000
Otz MEHIIS A22ZAE XA 300,000
= 300,000
sl dH &5 1,126,000 1,360,000 A 234,000
= 1,126,000
403 RXISH S X =0 & 1,126,000 1,360,000 234,000
= 1,126,000
01 AXSHMA=2E X 1,126,000 1,360,000 A 234,000
OEFA MRS =HH XA 871,000
= 871,000
OfH - SEZAHIIE HESHEANE SLEA
o 255,000
= 255,000
SAE HIISH™elAd 4X 193,000 417,000 A 224,000
= 193,000
403 XIS E X201 H 193,000 417,000 A 224,000
= 193,000
01 X SHHXN2E= 193,000 417,000 A 224,000
OfEZ SASFHIS SB3M2AE XA
& 133,000
= 133,000
Otz SASJHIIS B3M2UAE EXIA
e 60,000
= 60,000




02

ﬁlgg HDS2

HUHXES =4 ALY 960,000 500,000 460,000
= 960,000

403 XX S S K201 A 960,000 500,000 460,000
= 960,000

01 XbXI X Xt 2 960,000 500,000 460,000
HUXES ZEALE 960,000
= 960,000

74,963 75,943 A 980

74,963 75,943 A 980

74,963 75,943 A 980

16,853 16,853 0

16,853 16,853 0
6,878
9,975

35,910 35,910 0

35,910 35,910 0
35,910

22,200 22,200 0

6,600 6,600 0
6,600

2992 15,600 15,600 0
O=td & &t 3,600
OJIZUD| 3,600
O=x=Z& 22|t 4,200
Oate = X 1t 4,200
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A= g3z = SN =
M HREZBIN=E L X720y
Sl DSBS (S ¥ XS CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 150,000
01 XM A2E X 150,000 250,000 A 100,000
OJI=gs e SIAEY 150,000
= 150,000
Jl=de g A 200,000 0 200,000
= 200,000
403 XIS E X201 & 200,000 0 200,000
= 200,000
01 XXM A2E = 200,000 0 200,000
OJIZdsa HE dEZ ALY 200,000
= 200,000
EBATZOIEN Jt2It+ CIMEE Xz 162,000 154,000 8,000
= 162,000
308 A EHHSOIA 162,000 154,000 8,000
= 162,000
01 HXNHHNBMNELS 162,000 154,000 8,000
OSHAZQEN 29 162,000
= 162,000
s $EAZQER QAMEE Xz 5,400 0 5,400
= 5,400
308 XXM SO0l A 5,400 0 5,400
= 5,400
01 HIXNHHBNEES 5,400 0 5,400
OXsSx HAZQOIERW QHMEE Xa 5,400
= 5,400
BZIIZANLE BASEHEZOY 98,000 0 98,000
= 98,000
403 MtXISHE X201 & 98,000 0 98,000
= 98,000
01 XXM A2E = 98,000 0 98,000
OEIZANE BASEHEZOH 98,000
= 98,000
thorgrd e 53,595,405 28,900, 441 24,694,964
= 43,481,275
< 10,114,130
=4 K T OH X & 17,486,000 2,775,000 14,711,000
= 15,720,000
< 1,766,000
403 X EHHSH20lA 17,486,000 2,775,000 14,711,000
= 15,720,000
< 1,766,000
TAXEH A= X 17,486,000 2,775,000 14,711,000
=S FOHAA 17,486,000
= 15,720,000




A= g3z = 2M JFUOID
Hau: RSB L NPSUE0Y
S torEad e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| =) 1,766,000
=2 NS FSHAZ 2= 8,400,000 8,100,000 300,000
= 7,200,000
< 1,200,000
403 Mt SHHSA=0l& 8,400,000 8,100,000 300,000
= 7,200,000
< 1,200,000
01 HIXSHMA2E X 8,400,000 8,100,000 300,000
O=ATtESi sdZet 2F 8,400,000
= 7,200,000
= 1,200,000
HZSI HEILA HZ ALY 10,521,894 3,866,991 6,654,903
= 7,695,824
=) 2,826,070
308 XtXI M SO0l 9,471,894 3,746,991 5,724,903
= 6,995,824
= 2,476,070
01 IXNSHHBNEES 9,471,894 3,746,991 5,724,903
OL=dSx I HIAY K& 6,115,546
= 4,586,659
< 1,528,887
O33N HEts HZEX 2 1,244,963
= 829,975
< 414,988
OH&EIIAH OPF XX 739,200
= 554,400
< 184,800
OAEIAH MM WH X 1,320,000
= 990,000
< 330,000
OL=XE LPG A& X2 A 52,185
= 34,790
= 17,395
403 A X EHHS =0l A 1,050,000 120,000 930,000
= 700,000
< 350,000
01 X EHHMA=LE L 1,050,000 120,000 930,000
OLPG 3t A X+ K& 1,050,000
= 700,000
< 350,000
HOIDIAXIY RYH BE 79,950 215,150 135,200
2 61,500
= 18,450
403 UHXSHHSA=0l& 79,950 215,150 A 135,200
= 61,500
< 18,450




A= SIAER A =D
Hu: REDIHD Y NP0
S toled R (&)
F-RA-BH-SAEA) - HRAY - BAS of 4 o4 il HI RS2
01 HXSHH =R 79,950 215,150 A 135,200
OdAIMNAXE FLUH EX 79,950
2 61,500
< 18,450
HIIXS A FOHX 15,549,200 11,917,000 3,632,200
=2 11,676,000
= 3,873,200
403 TtXI M SA=01A 15,549,200 11,917,000 3,632,200
2 11,676,000
= 3,873,200
01 XM IHE 2 x 15,549,200 11,917,000 3,632,200
O&IITSA AR 15,549,200
= 11,676,000
= 3,873,200
OISR BHE2l 822l At 6,500 0 6,500
= 6,500
308 XXM SO0l & 6,500 0 6,500
= 6,500
01 XM BAEES 6,500 0 6,500
O&IINSAt el 2l=22] At 6,500
= 6,500
HII0IER 23S At 204,700 250,000 245,300
= 204,700
403 AR SHHMSTHZ0lH 204,700 250,000 245,300
= 204,700
01 XM= 2 X 204,700 250,000 245,300
OHIIOIEX 2E5ALEY 204,700
= 204,700
Olelol Ssxtg XA 825,000 292,500 532,500
2 550,000
S 275,000
403 TR SHHSA=01A 825,000 292,500 532,500
2 550,000
< 275,000
01 HASHH =R E 825,000 292,500 532,500
Oo0lglol Ssrxte LPGRt M XI& A 825,000
= 550,000
S 275,000
M=sAHU ESAHY 219,901 178,800 41,101
= 183,251
= 36,650
403 TtXI M SA=01A 219,901 178,800 41,101
= 183,251
= 36,650




SN =

AR gAY
M RSB U NP2 Y
Chelr o1& e (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
01 HXSHMA2E X 219,901 178,800 41,101
OO0 MsAHU EXAY 219,901
= 183,251
< 36,650
N N=AE2H BE= ALY 101,880 0 101,880
= 84,900
< 16,980
403 MHXISHE X201 & 101,880 0 101,880
= 84,900
< 16,980
01 X SHHN2E = 101,880 0 101,880
OJEE8 M=sA222d E=2Ad 101,880
= 84,900
S 16,980
s 2AME SSAAE 2 2,400 0 2,400
201 Let249] 2,400 0 2,400
02 3323l 2,400 0 2,400
O=2d s HHAAH SRS 2,400
TR R3] A8 NIAL 117,980 0 117,980
= 98,600
< 19,380
403 X SHHSA=0l& 117,980 0 117,980
= 98,600
= 19,380
01 AXSHMA2E X 117,980 0 117,980
F52 8EI sl=4H XNEAY 117,980
= 98,600
< 19,380
SE=EE 0IMS 22l AldAHE =8 80,000 0 80,000
201 L2l 2,400 0 2,400
01 At 221l 2,400 0 2,400
OHMetM BIF AJ =& 2,400
207 Ao 77,600 0 77,600
01 A2 ESHI 77,600 0 77,600
OFHE=EE DM X 22 AlEHE 824 77,600
MeEtEd O 6,135,930 3,561,735 2,574,195
= 4,650,715
= 1,485,215
SATioh 2HU(HS) 20,000 20,000 0
308 XXM S0 A 20,000 20,000 0
01 AXNSHBLAEES 20,000 20,000 0
O PHU(HE) 20,000
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= A
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< ol
50 A< i
w = 20

M & oF
< RO T

<

n0

Kio

Hl w

2,554,195

2,554,195

2,554,195

70,000

2,400
2,400
67,600
67,600

19,635,233

H3r
Wikd
RIS

3,491,735

3,491,735

3,491,735

291,240

700
700
700

9,400

9,400

9,400

9,600

9,600
9,600

13,140

Off &t 24

6,045,930
4,650,715

mr

H

1,395,215
6,045,930
4,650,715

)

H

1,395,215
6,045,930
6,045,930
4,650,715

fir

1,395,215

70,000
2,400
2,400
2,400

67,600

67,600

67,600

19,926,473
15,344,700

i

H

700
700
700
700
700
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403 UHXSHHSA=0l& 213,150 932,250 A719,100
= 121,800
< 91,350
01 X SHMA2E X 213,150 932,250 A719,100
OYMSHEAZAIL 213,150
= 121,800
< 91,350
MSRSII BRI A 91,700 146,175 AB4 475
= 52,400
< 39,300
403 MtXISHHE X201 & 91,700 146,175 AB4 475
= 52,400
< 39,300
01 X SHHA2E = 91,700 146,175 AB4 475
OgutE RSIIEHXEA 91,700
= 52,400
< 39,300
LLASHADIBIEY 829,780 755,256 74,524
= 474,160
< 355,620
403 A X EHHS =0l A 829,780 755,256 74,524
= 474,160
< 355,620
01 X SHHMA=2LE L 829,780 755,256 74,524
OYLESMADIEtE S 829,780
2 474,160
< 355,620
A MA N EEOIHE XI& 3,360 5,201 A 1,841
= 1,920
< 1,440
308 XX EHSOIA 3,360 5,201 AT,841
= 1,920
< 1,440
01 HIXNHHBNEES 3,360 5,201 A 1,841
Ottty datndateliE K& 3,360
= 1,920
< 1,440
MBESMAMCT X4 113,400 250,000 136,600
2 90,720
< 22,680
403 MHXISHE X201 E 113,400 250,000 A 136,600
= 90,720
< 22,680
01 X SHHX2E = 113,400 250,000 A 136,600
OUSRSMAET X4 113,400
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 90,720
= 22,680
SNEESSFFEHI =4 1,300,110 1,359,561 A 59,451
= 866,740
< 433,370
403 UHXSHHSA=0l& 1,300,110 1,359,561 A 59,451
= 866,740
< 433,370
01 HXSHMA=E X 1,300,110 1,359,561 A 59,451
Ot =gdaddnl =4 1,300,110
= 866,740
< 433,370
LLMSMACI L AHALS 2,185,517 442,830 1,742,687
= 1,248,867
< 936,650
403 UtXISHH S A0l & 2,185,517 442,830 1,742,687
= 1,248,867
< 936,650
01 X SN2 L= 2,185,517 442,830 1,742,687
OLUSMAIZLE LAHAY 2,185,517
= 1,248,867
< 936,650
EY JAasS MU el (ELHEH) 58,516 20,915 37,601
= 48,189
< 10,327
308 MtXIEHSOIH 58,516 20,915 37,601
= 48,189
= 10,327
01 HXNHHBHELS 58,516 20,915 37,601
Oz sZd AdME THHH 22 (ELHEH) 58,516
= 48,189
=) 10,327
ey QM2 WHZ2I(RIEHIR) 546,418 880,222 333,804
2 449,991
=) 96,427
308 X EHH SOl A 546,418 880, 222 A 333,804
= 449,991
& 96,427
01 HIXNHHBNEES 546,418 880, 222 A 333,804
Oz ed datE MMuf2el (|IIEHR) 546,418
= 449,991
< 96,427
AuaE MAESERSHH 480,000 600,000 A 120,000
= 400,000
< 80,000
403 XIS E X201 & 480,000 600,000 A 120,000
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= 80,000
01 AXSHMA2E =R 480,000 A 120,000
Oget=s IS RSHH 480,000
= 400,000
< 80,000
a2 2eAaH 1,500,000 1,500,000
= 1,000,000
= 500,000
403 XAtXIHM S K201 ™ 1,500,000 1,500,000
= 1,000,000
= 500,000
01 X SHHMA 28X 1,500,000 1,500,000
ogut2 2Hd2AH =4 1,500,000
= 1,000,000
< 500,000
NSEIIFE BRE AE2F (XE) 52,974 720
= 46,937
< 6,037
308 XXX SO0 52,974 720
= 46,937
< 6,037
01 AXNSHBLEES 52,974 720
OANSEIIHEE BRS E2L(XE) 52,974
= 46,937
< 6,037
a2 ELYE L FEF H=2XR 152,200 0
308 XXM SO0l A 152,200 0
01 AXNSHHBLEEES 152,200 0
Ogdets EZg & 283 dlg N& 152,200
AAHERXN 2=KXA 47,520 0
308 KX EHS0IA 47,520 0
01 IXNHHMEBAMNEES 47,520 0
OULHEXN A=sXA 47,520
LHAZ=HA =303 &It 5,000 0
307 Qi2t0ol & 5,000 0
04 DIZtSHALAIHE E X 5,000 0
OLY=AHI H=2CHE &It 5,000
Med 3 8 ZdU 4 ALY 10,000 0
307 2I2t0l & 10,000 0
02 RIZFE MM E X 10,000 0
OANmEg BZ 8 ZdH sS4 A 10,000
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M ox
40 5 4

BN SN M=
AMEY MENESH
NEEETE

- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2

= 158,801
& 71,501

308 XHXIEH SO0l A 230,392 225,752 4,640
2 158,891
&< 71,501

01 AIKSHHEMNEX= 230,392 225,752 4,640
OJjel &l 3 & | 129,008
= 88,971
& 40,037
OoOsE=d] 30,160
= 20,800
& 9,360
OAt2 8 X S 4| 38,454
= 26,520
o 11,934
OMERZTIES Y| 32,770
= 22,600
& 10,170

MEXSHAHA RE2H(FA) A 4,000 4,000 0
= 1,600
= 2,400

202 04| 4,000 4,000 0
2 1,600
& 2,400

01 2Ll 4,000 4,000 0
ONE0E & XSES 0l 4,000
2 1,600
= 2,400

AMEBTHAHASE (H A 17,400 0 17,400
= 12,000
& 5,400

308 XHXIGHH SO0l & 17,400 0 17,400
= 12,000
& 5,400

01 HXHHIMNEXS 17,400 0 17,400
Odt=dlstAlgE=dA 17,400
= 12,000
== 5,400

MEDSEY YL TA(ZA) T 139,700 138,300 1,400
= 55,880
o 83,820

201 et H9d| 8,400 8,200 200
= 3,360
o= 5,040

01 AFR 2t 2| bl 8,400 8,200 200
OMEEEBXIAE 282=2 3,600




A= EHHAMEZ 2A A E =X
Mz AN sMEINFES
& MEEAES (cho &)
. i - o
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
= T.440
= 2,160
OMEM2IAE 2924 4,800
= 1,920
=} 2,880
202 044 1,600 1,600 0
2 640
& 960
01 2L Y| 1,600 1,600 0
ONEHS2ZAE S =0 Y| 1,600
= 640
o=t 960
307 2Iz2to| A 129,700 128,500 1,200
= 51,880
= 77,820
05 QIZt9 E 2 129,700 128,500 1,200
Ot dlgtold s & HOt 129,700
= 51,880
& 77,820
AEMLHH RE=2F(H2) 198,302 306,936 A 108,634
2 136,760
& 61,542
403 XX SHS K20 & 198,302 306,936 A 108,634
2 136,760
& 61,542
01 MXHHE2E = 198,302 306,936 A 108,634
Obtt=2 A SHAIA 102,660
= 70,800
= 31,860
OMEATIAE RAES 14,442
= 9,960
& 4,482
Oat2 201 2FAII102 WAl 69,600
= 48,000
== 21,600
OMESZAIAIA 11,600
2 8,000
& 3,600
MEXSHAH RE2F(H2) 1,110,149 157,789 952,360
= 765,620
== 344,529
403 XX SHHS K20 ™ 1,110,149 157,789 952,360
= 765,620
= 344,529
01 XIS A=Z2E X 1,110,149 157,789 952,360
Odt= & 3t &t 111,360
= 76,800
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AR ENHE SN Y=
M AR MAXARH
ool MEBELES (crol e
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 402,108
403 MtXISHHSA=0l& 402,108 396,683 5,425
= 402,108
01 XM A2E X 402,108 396,683 5,425
O#MSH2t FUX ALY 402,108
= 402,108
S (W) M = 2,392,572 1,943,400 449,172
= 2,120,000
< 272,572
403 XIS E X201 & 2,392,572 1,943,400 449,172
= 2,120,000
< 272,572
01 X SHHA2E = 2,392,572 1,943,400 449,172
OUHESHZH(EY) MEHE =& 2,392,572
= 2,120,000
= 272,572
Es+EH ALY 86,400 86,400 0
308 MXIEHMSOIH 86,400 86,400 0
01 HXNHHBHELS 86,400 86,400 0
OBs+=ZHl At 86,400
AMSIMEIAZO0F Q1S HHI 37,000 30,500 6,500
= 37,000
308 XX EHSOIA 37,000 30,500 6,500
= 37,000
01 HIXNHHBNEES 37,000 30,500 6,500
OMSIMHIAZ0F 21 | 37,000
= 37,000
otH =S 2 A 339,556 349,461 A 9,905
= 281,103
< 58,453
308 XtXIEHH SOl A 339,556 349,461 A 9,905
= 281,103
< 58,453
01 AXHHILEES 339,556 349,461 A 9,905
ogerdsis Yl 339,556
= 281,103
< 58,453
L2USRHESE &H 195,619 415,630 A 220,011
= 174,983
< 20,636
308 MtXIEHSOIH 195,619 415,630 A220,011
= 174,983
< 20,636
01 HXNHHNBHEELS 195,619 415,630 A 220,011
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& MEEAES (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OAUSHLEEHE 2 195,619
2 174,983
< 20,636
2URMHEEE OISEEz=a 215,656 210,392 5,264
= 165,889
= 49,767
308 XXM SOIA 215,656 210,392 5,264
= 165,889
< 49,767
01 X HHBILEES 215,656 210,392 5,264
OAURHEEE Olstsxza 29 215,656
= 165,889
< 49,767
AUSRHESYE OlsA I 2L 86,900 86,900 0
= 77,000
< 9,900
403 A X EHS =0l A 86,900 86,900 0
2 77,000
< 9,900
01 X EHHMA=ZLE L 86,900 86,900 0
OA2LURHESY Olsa T4l #+< 86,900
2 77.000
< 9,900
=282 26,000 26,000 0
= 20,000
= 6,000
308 XXM SO0 A 26,000 26,000 0
= 20,000
S 6,000
01 IXNHHBHNEES 26,000 26,000 0
=8z 26,000
= 20,000
< 6,000
MEEHNS MEYME 561,959 564,096 A2,137
= 432,274
< 129,685
308 XXIEHHSOIA 561,959 564,096 A2,137
= 432,274
< 129,685
01 XML EES 561,959 564,096 A2,137
Otz dolls LMY 29 561,959
= 432,274
= 129,685
SMEYEE 2LIHERE 18,394 0 18,394
= 9,197
< 9,197
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MY ANY MENESH
& MEEAES (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
101 @124 H] 15,352 0 15,352
= 7,676
& 7,676
04 JI2ZtHIZ2 2 NEE S 15,352 0 15,352
ONMEEHHIESL2LIHE QA 2124H| 15,352
= 7,676
=} 7,676
201 et 3,042 0 3,042
= 1,521
& 1,521
01 AP 2t 2] H| 3,042 0 3,042
ONEEHlE=E2LIHE % 29 £ 3,042
= 1,521
& 1,521
MNEHMHES L HEH P2 20,020 20,020 0
= 15,400
o= 4620
403 XX SHHM S X201 & 20,020 20,020 0]
= 15,400
o= 4,620
01 XS A=2E X 20,020 20,020 0
Odrglgalls 2 H&EH 2L 20,020
= 15,400
= 4,620
AUSHMESY O EXAIR 64,051 19,806 44 245
308 AHXIEHSOIA 64,051 19,806 44 245
01 AIKSHHEMNEXZ 64,051 19,806 44 245
O2URMESYE HEEXAH 64,051
METREN 46,479,904 27,246,711 19,233, 193
= 32,789,184
J| 1,202,000
& 12,488,720
AHE X4 5,997,701 3,873,820 2,123,881
= 4,594 /520
& 1,403,181
403 XX SRS K20| & 5,997,701 3,873,820 2,123,881
= 4,594 /520
& 1,403,181
01 MXHHE2BE = 5,997,701 3,873,820 2,123,881
OZHEg =4 5,997,701
= 4,594 520
= 1,403, 181
rEE E31Y 4,785,110 3,123,708 1,661,402
= 4,785,110
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4= sFael SN aE=STD
MY ANY MENESH
Col: METIR TN (St &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
206 M = Hl 4,785,110 3,123,708 1,661,402
= 4,785,110
01 X2 H| 4,785,110 3,123,708 1,661,402
ozxgg s 4,785,110
= 4,785,110
U2 1,292,363 664,755 627,608
2 994, 125
= 298,238
403 XX SRS K20 & 1,292,363 664,755 627,608
= 994,125
= 298,238
01 XIS A=Z2E X 1,292,363 664,755 627,608
oz2ug =4 1,292,363
= 994,125
o= 298,238
OMIHX 22X 900,900 3,519,596 N2,618,696
= 693,000
= 207,900
403 XX S M S X201 & 900,900 3,519,596 N2,618,696
2 693,000
= 207,900
01 XS A2E X 900,900 3,519,596 N2,618,696
OO0MEHX H&Z2xH 900,900
= 693,000
= 207,900
NEES & 338,275 66,625 271,650
2 260,212
o=t 78,063
403 XX SHHS K20 & 338,275 66,625 271,650
= 260,212
& 78,063
01 AIXISHHMA=Z2E X 338,275 66,625 271,650
OXNEES =™ 338,275
= 260,212
o= 78,063
SEMAD|IBE RN (EAIHE) 5,981 135,981 A 130,000
= 5,300
= 681
403 XX SHHS K 20| & 5,981 135,981 A 130,000
= 5,300
&< 681
01 MXSHHE2E =X 5,981 135,981 A 130,000
OI2MAD|BEES (ELIHS) 5,981
= 5,300
& 681
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M AN MENIEH
SRS PEE CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
SEAIE s 156,000 0 156,000
= 120,000
< 36,000
403 UHXISHHSA=0l& 156,000 0 156,000
= 120,000
< 36,000
01 HXESHMA=LE L 156,000 0 156,000
OLZ AL sHst 156,000
= 120,000
< 36,000
ASEHOI2 SAEE HEXY 6,795,000 0 6,795,000
= 5,850,000
< 945,000
403 MtXISHH S0l & 6,795,000 0 6,795,000
= 5,850,000
< 945,000
01 X SN2 L= , 795,000 0 6,795,000
O&tgdole gadd HExd 6,795,000
= 5,850,000
< 945,000
28 s 7¥ 14,000 13,500 500
201 2et24d] 4,000 4,000 0
03 #AL2ZHI 4,000 4,000 0
oOxgEe=x, 822 s #¥ 4,000
206 M= Hl 6,000 6,000 0
01 M= 4l 6,000 6,000 0
ogz=s 2¢ 6,000
301 LEPEHZF 4,000 3,500 500
09 HALAHIXI &3 4,000 3,500 500
OMSUMA 2Y(TAZ 2Y) 4,000
M =ItRI| , 150,837 9,878,490 2,272,347
= ,346,798
< 2,804,039
403 A X EHS =0l A 12,150,837 9,878,490 2,272,347
= 9,346,798
< 2,804,039
01 X HHMA=ZLE L 12,150,837 9,878,490 2,272,347
OZM=I R 12,150,837
= 9,346,798
< 2,804,039
It RI| K& ZAFEH(XI &) 306,830 283,708 23,122
= 238,100
< 68,730
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CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
308 X EHSOIA 306,830 283,708 23,122
= 238,100
< 68,730
01 HIXNHHBHNEELES 306,830 283,708 23,122
O=It3I| X2 ZALEH(XIS) 306,830
= 238,100
< 68,730
OIAIX M2 = I3 0| 740,376 0 740,376
= 569,520
< 170,856
403 MtXISHHE X201 & 740,376 0 740,376
= 569,520
< 170,856
01 X SHHA2E = 740,376 0 740,376
OO0IMIYX M2 = JtRJI 740,376
= 569,520
< 170,856
A HIOIQIH A dtEEH 1,000,812 989,002 11,810
= 773,893
< 226,919
308 MtXIEHMSOIH 1,000,812 989, 002 11,810
= 773,893
< 226,919
01 HXNHHNBHEELS 1,000,812 989,002 11,810
O&EH0IQM A dtEE 1,000,812
= 773,893
< 226,919
=t RIITHEE 1,041,660 0 1,041,660
= 808,200
< 233,460
308 XX EHSOIA 1,041,660 0 1,041,660
= 808,200
< 233,460
01 HIXNHHBNEES 1,041,660 0 1,041,660
ORI HEE 1,041,660
= 808,200
< 233,460
AAINAHH 23 32,500 32,500 0
2 25,000
< 7,500
403 MHXISHE X201 E 32,500 32,500 0
= 25,000
< 7,500
01 X SHHX2E = 32,500 32,500 0
OYTIAHEH 23 32,500
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A2 BINEYR SN MESXD
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 25,000
< 7,500
=MIE Uss UsZd =4 1,202,000 130,000 1,072,000
J| 1,202,000
403 Mt SHHSA=0l& 1,202,000 130,000 1,072,000
J| 1,202,000
01 HXESHMA=LE L 1,202,000 130,000 1,072,000
O=MI3 Ussltsz =4 1,202,000
J| 1,202,000
SR MEBIAZR0(SAIsXI22ld) 121,866 118,728 3,138
2 93,743
< 28,123
308 XXM SO0 A 121,866 118,728 3,138
2 93,743
= 28,123
01 IXNHHBNEES 121,866 118,728 3,138
OB MEIAZ2R20I(SAI=X 22 &) 121,866
= 93,743
< 28,123
AEMHEAERO(Z&=ACIUOIE) 54,162 52,767 1,395
= 41,663
< 12,499
308 XtXIEHH SOl A 54,162 52,767 1,395
= 41,663
< 12,499
01 X HHILEES 54,162 52,767 1,395
O MEIAER0I (&= ICIUIOIEH) 54,162
= 41,663
< 12,499
SAHEZ= 24 650,000 0 650,000
= 500,000
S 150,000
403 X SHHSA=0l& 650,000 0 650,000
= 500,000
< 150,000
01 HIXSHMA2E X 650,000 0 650,000
OZAHEZ2= =4 650,000
= 500,000
= 150,000
OIMSX XtEt= =4 3,900,000 0 3,900,000
= 3,000,000
= 900,000
403 MtXISHHE X201 E 3,900,000 0 3,900,000
= 3,000,000
< 900,000




U
W
i
x
>
u
i
=
S

A= SFAE £ &g
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 3,900,000 0 3,900,000
OO0IMZXX XE= =4 3,900,000
= 3,000,000
< 900,000
OTMSHX M2 AUANZSHEEIOL &4 19,500 0 19,500
= 15,000
< 4,500
308 XXIEHH SOl A 19,500 0 19,500
= 15,000
< 4,500
01 AXHHILEES 19,500 0 19,500
OODIMEX M2 Al A2t ¢4 19,500
= 15,000
S 4,500
AOEIJIEE2 E&XAME 97,500 0 97,500
= 75,000
< 22,500
403 A X EHHSH20IA 97,500 0 97,500
= 75,000
< 22,500
01 X ESHHMA=LE L 97,500 0 97,500
OALLEJIESE AXAY 97,500
= 75,000
= 22,500
SAlE ZH(HEAY) 1,530,000 2,520,000 A 990,000
403 XSS A=0l& 1,530,000 2,520,000 990,000
01 AXSHMA=2E X 1,530,000 2,520,000 990,000
OxAN= =4 1,530,000
NeEHA L (MEAY) 2,893,000 1,235,000 1,658,000
403 MtXISHHE X201 E 2,893,000 1,235,000 1,658,000
01 X S22 = 2,893,000 1,235,000 1,658,000
oxNgda =4 2,893,000
AFEAY ORI = 3,000 3,000 0
201 Let24d] 3,000 3,000 0
01 At 22/l 3,000 3,000 0
O&E ALY BII9I& =& 3,000
A28 = X0l 2P 2 397,031 397,031 0
308 A EHHSOIA 397,031 397,031 0
01 HIXNHHNBHEES 397,031 397,031 0
Odds = X0 HYE 2 397,031
LietZ2 233 4 A& 23,500 23,500 0
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A= g3z = PN AE=TI
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
201 ¢er24| 5,600 5,600 0
01 At 22l 350 350 0
oustZ 223 SE(HEAE AR =& 350
03 &Ar2 I 5,250 5,250 0
OlictZ 223 SE(AA)E 5,250
303 Z&= 1,000 1,000 0
01 243 1,000 1,000 0
ouatZ 223t SH(XAS AlaZ 1,000
403 MtXISHH S0l & 16,900 16,900 0
01 AXISHHA=2E = 16,900 16,900 0
OLletE 233 54 2 dX 2l 16,900
MEIE FHAE 30,000 0 30,000
403 XIS E A= 0l& 30,000 0 30,000
01 X SHHAN2E = 30,000 0 30,000
Ot & ZHlAY 30,000
MEHEHE LR 2e 12,273,676 11,323,035 950,641
= 2,786,828
s 4,544,290
< 4,942,558
THE SHRH 2L 420,000 453,600 /33,600
= 300,000
< 120,000
403 A X EHHS 20l A 420,000 453,600 A 33,600
= 300,000
< 120,000
01 X HMA=ZE L 420,000 453,600 /33,600
OFe8Eg SHEIAIZLY 420,000
= 300,000
< 120,000
MIEXE SHESR 22 44,200 49,400 A5,200
= 34,000
< 10,200
403 MtXSHHSA=0l& 44,200 49,400 A5,200
= 34,000
< 10,200
01 AXSHMA=2E X 44,200 49,400 A5,200
OAZIEXE SHEAIEL 44,200
= 34,000
< 10,200
SHOIZ SUHAANHE 23 19,188 22,386 A 3,198
= 14,760
< 4,428
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I EIE SN AYSRD
MY ANY MENESH
Selr dEjEd dX2e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 19,188 22,386 A 3,198
= 14,760
< 4,428
01 HIXNHHBHNEELES 19,188 22,386 N 3,198
OSMoIE SHZAE 2 19,188
= 14,760
< 4,428
SMHASALE SHat 276,000 224,000 52,000
2 240,000
< 36,000
403 MtXISHHE X201 & 276,000 224,000 52,000
= 240,000
< 36,000
01 X SHHA2E = 276,000 224,000 52,000
O=MASAIE St 276,000
= 240,000
< 36,000
SHHES S22l AHIEA 29 9,100 10,000 A 900
= 9,100
308 MXIEHSOIH 9,100 10,000 A 900
= 9,100
01 HXNHHBHELS 9,100 10,000 A 900
OSMHE SE2el MEFEA 29 9,100
= 9,100
SMME S22 & RSANE - &5 900 0 900
= 900
202 Od4dl 900 0 900
= 900
01 = LH 4 1 900 0 900
OSMHE SE2cl MEFEA 29 900
= 900
AT ALY EtE A Ot 14,285 12,429 1,856
ras 10,000
< 4,285
201 et 13,000 12,429 571
as 9,100
< 3,900
01 At 22l 13,000 12,429 571
OYEAY EIE&&8EI =& 13,000
s 9,100
< 3,900
202 04l 1,285 0 1,285
s 900
< 385
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A= g3z = PN AE=TI
M AR MAXARH
Cl: MEHEE AtXlI2e] (SH9: &)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 1,285 0 1,285
OLEAY EFEEEIL (bl 1,285
s 900
< 385
AL (AL E) 5,182,047 4,281,600 900,447
ras 4,534,290
< 647,757
403 MHXISHE X201 & 5,182,047 4,281,600 900, 447
as 4,534,290
< 647,757
01 X SHHN2E = 5,182,047 4,281,600 900,447
AT AL (ZHLE) 5,182,047
s 4,534,290
S 647,757
ST =24 1,120,000 1,120,000 0
= 1,000,000
< 120,000
403 A X EHHSH20IA 1,120,000 1,120,000 0
= 1,000,000
< 120,000
01 X ESHHMA=LE L 1,120,000 1,120,000 0
OSTHAHESHI =4 1,120,000
= 1,000,000
= 120,000
=M SHAH =4 845,000 845,000 0
= 650,000
< 195,000
403 MtXSHHS =0l & 845,000 845,000 0
= 650,000
< 195,000
01 X SHMA=2EE 845,000 845,000 0
O=4&g SHAH =4 845,000
= 650,000
< 195,000
AHAMER & Z 0l &2 & 342,299 335,393 6,906
= 236,068
< 106,231
308 XX EHH SOl A 342,299 335,393 6,906
= 236,068
< 106,231
01 X HHILEES 342,299 335,393 6,906
OAHALEH & & 0l & E 342,299
= 236,068
= 106,231
AEAFRY H XS X8 & 48,000 48,000 0
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A2 BINEYR SN MESXD
M AN MENIEH
Selr dEjEd dX2e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 48,000 48,000 0
01 X SHMA2E X 48,000 48,000 0
OALALEH H &b XIS EXIE A X 48,000
A SEEZNE gl 214 22,400 0 22,400
= 20,000
< 2,400
308 XXM SOIA 22,400 0 22,400
= 20,000
< 2,400
01 AXHHBISEES 22,400 0 22,400
OdaIsadie el 27 & 22,400
= 20,000
< 2,400
AZANE FANES(HEAY) 3,354,000 2,940,398 413,602
403 A X EHHS =0l A 3,354,000 2,940,398 413,602
01 XXM 22 = 3,354,000 2,940,398 413,602
Y ANE FXE* 3,354,000
SEHESIMEE 2L (HEAY) 258,000 0 258,000
403 Mt SHHSA=0l& 258,000 0 258,000
01 XM A=LE L 258,000 0 258,000
O=EM2sMEdE =4 258,000
MEMUEHER ALY 318,257 0 318,257
= 282,000
< 36,257
403 MtXISHHE =0l & 318,257 0 318,257
= 282,000
< 36,257
01 AXISHHA=2E = 318,257 0 318,257
OMBME =S ALY 318,257
= 282,000
< 36,257
SAEHSA 22,318,184 13,720,041 8,598, 143
= 893,988
s 8,962,000
< 12,462,196
AHs2d &4 13,443,000 3,840,000 9,603,000
s 8,962,000
= 4,481,000
403 Ut S E X201 & 13,443,000 3,840,000 9,603,000
s 8,962,000
= 4,481,000
01 X SHHAN2E=x 13,443,000 3,840,000 9,603,000
Ol sdy =4 1,200,000
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syeszd CER-ED
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2

e 800,000
< 400,000
OXgsdd 22 11,793,000
s 7,862,000
< 3,931,000
oddgd=zd =4 450,000
s 300,000
< 150,000

AHssd SeMol HSAY 110,500 165,750 A 55,250
= 85,000
< 25,500

403 UHXSHHSA=0l& 110,500 165,750 A 55,250
= 85,000
< 25,500

01 HXSHMA=E X 110,500 165,750 A 55,250
ONHF L =Mool HESAY 110,500
= 85,000
< 25,500

ANRozs 2L (HEAY) 3,432,000 1,430,000 2,002,000

403 MtXISHHE A0l & 3,432,000 1,430,000 2,002,000

01 AXISHHA=2E = 3,432,000 1,430,000 2,002,000
Oxgo= =4 2,620,000
OxXRods 22 812,000

A MHIAZ RO (A XK XS A 179,400 179,400 0
2 138,000
< 41,400

308 XA EHSOIA 179,400 179,400 0
= 138,000
< 41,400

01 HIXNHHNBHEELES 179,400 179,400 0
OMBNBIAER0| (A XK XIS AL 179,400
= 138,000
< 41,400

A MBI AZ R0l (ZoH &0t 348,075 373,750 A 25,675
= 267,750
< 80,325

308 XXM SO A 348,075 373,750 A 25,675
= 267,750
=) 80,325

01 AXHHIYEES 348,075 373,750 A 25,675
OUEMEIAZ 20l (=dH&0t) 348,075
= 267,750
& 80,325

MENUAESR0(ROl=LR) 198,900 178,750 20,150
= 153,000
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A= EHHAMEZ 2A A E =X
MY ANY MENESH
©e: FYSHSH CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 45,900
308 XX G SO0l & 198,900 178,750 20,150
= 153,000
= 45,900
01 AIKSHHENMNEXZ 198,900 178,750 20,150
OMEHHIAESR0 (S0l &) 198,900
= 153,000
& 45,900
MEHHIAES R0 (=L HME XA 135,405 105,534 29,871
= 104,158
& 31,247
308 MXISHMSOIA 135,405 105,534 29,871
= 104,158
& 31,247
01 IXHHIMNEXTZ 135,405 105,534 29,871
OMEHHIAESR0 (Z2ZAHE XIS AL 135,405
= 104,158
o=t 31,247
MEMHIAZS20| (=MEf2EQ) 67,704 65,959 1,745
= 52,080
& 15,624
308 XAHXIEH SO A 67,704 65,959 1,745
= 52,080
& 15,624
01 AIXSHMENMNEX= 67,704 65,959 1,745
OAZIHHIAES 20| (=MEf 2|0 67,704
= 52,080
= 15,624
MEMEIOIS 2H UM 122,200 118,298 3,902
= 94,000
= 28,200
308 XHXIGHH SO0l & 122,200 118,298 3,902
= 94,000
= 28,200
01 AIXSHHENEXZ 122,200 118,298 3,902
OHNEMEN0IS 2D 0HLIM 122,200
= 94,000
= 28,200
=2 AL (MEAY) 344,000 351,000 AT7,000
403 XX S M S X201 & 344,000 351,000 AT7,000
01 MXHHNE2BE =X 344,000 351,000 AT7,000
OMad SHtE Hd| 344,000
o2l X st XS =2 XA (MEAY) 780,000 1,560,000 A 780,000
403 XX SHS K201 & 780,000 1,560,000 A 780,000
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Al BHEAE £ Ared
M. AHY MNENFEH
oo EASIHSA CERED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
01 XX SHMA2E X 780,000 1,560,000 780,000
O9e X stexe =2 =4 780,000
N E35 Sdllz ZE(HEAY) 845,000 806,000 39,000
403 ItXISHXM S K201 845,000 806,000 39,000
01 AIXISHMA2E X 845,000 806,000 39,000
OXNgEs d&d =4 845,000
s oS 82 T8 (HeAY) 520,000 0 520,000
403 X SHHMS K201 520,000 0 520,000
01 U SHK == 520,000 0 520,000
OUE=s molotE Xs=2 &4 520,000
COlE-8EER =2 T4 (MstAY) 325,000 0 325,000
403 ItXISHHSA201H 325,000 0 325,000
01 RXISHAE R X 325,000 0 325,000
Oz0tg-gdee2 =2 =4 325,000
LETY ZH(HEAY) 390,000 0 390,000
403 IR HAMS K201 N 390,000 0 390,000
01 AIXISHMA2E X 390,000 0 390,000
OoZdEsxd =4 390,000
E2[a S 29 - 22/ (HEAY) 85,000 78,000 7,000
308 AHX| S S0l & 85,000 78,000 7,000
01 AXHMIAEES 85,000 78,000 7,000
Ofcla Sd2 2322 85,000
MBI NSHEH XM (HEAY) 520,000 130,000 390,000
403 X SHHMS K201 A 520,000 130,000 390,000
01 R ESH K22 = 520,000 130,000 390,000
OgdX = o4dsty A 520,000
SO=MER ZH(HEAY) 357,000 96,200 260,800
403 IR HHSA201H 357,000 96,200 260,800
01 XX SHMA2E X 357,000 96,200 260,800
SO=MER =4 357,000
AHE S 5FHEH AL 50,000 50,000 0
307 212t01 & 50,000 50,000 0
04 QI2SHALAIE B = 50,000 50,000 0
OMNE S GHEAL 50,000
MEIXR SEE BT 2 30,000 30,000 0
308 AHXI S SO0l & 30,000 30,000 0
01 AXHMIAEES 30,000 30,000 0
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